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* Given that we have 25.0 g of liquid bromine, how many grams of aluminum would we need
to react away all of the bromine?

@ Convert grams of bromine fo moles: Need formula weight R 0" ) X% .90

\SCJ,%D%BQ: wéo\ 02 159 . %0
wmol DT — 0,1S64S mal Br
15,0680 1 15990 g By, )

@ Use the chemical equation to relate moles of bromine to moles of aluminum

D ol AVS Smol By
D ol A\
3 mol %\r,?_

C’f)) Convert moles aluminum fo mass: Need formula weight A - L6.7%

9% A
0106420 md Al x, —22 \/(&f\i | =L, 8lg

0.1$64S mal By X =~ 0.lo430 md Al
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You can combine all three steps on one line if you like!

@\89,3038(,}_: o) 6rl @ ) o {5\\:3"\'0\ %‘F’L @1%:9%3{5(\: ol A\

AN Dmod AV L6, 9%6 A \
25,0 B, X - 27 |6\ o Al

X K
\99(603 Bﬁ_ 3 mol %‘F’L o) A\
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Things we can do:

If we have ... ... and we need ... Use ...
MASS MOLES FORMULA WEIGHT

SOLUTION MOLES MOLAR

VOLUME CONCETRATION
(MOLARITY)

MOLES OF A MOLES OF B BALANCED
CHEMICAL
EQUATION




o Example:;
How many milliliters of 6.00M hydrochloric acid is needed to completely react with

25.0 g of sodium carbonate?

::'2_\-—\C\ Lag, )+ "'/\/(/\7_[,0:5 () —> Hoo(W)+ (Oz(y]-\r LNLC) Lcwb)

1 - Convert 25.0 g of sodium carbonate fo moles. Use FORMULA WEIGHT.
2 - Convert moles sodium carbonate to moles HCIl. Use CHEMICAL EQUATION

3 - Convert moles HCI to volume. Use MOLARITY (6.00 M)

@ )\/0\1(03— /\/4\'./2_%22.9'(7
C T Ixl2,0|
O :3)('.5«00

2804 N, (0, « mal Maalog - 0,1
4 Nay 3X\os.v<7c7NM(03‘ L3567130%6 mo) Nay (04

(D 2 mol HC| = Mo /\/%co3

0. 135671306 ol Nuy (0% EmOHCL 6 47174264172 mol He
mol| Naz(o?)




2 Example:
How many milliliters of 6.00M hydrochloric acid is needed to completely react with
25.0 g of sodium carbonate?

2_\"’\[_\ kab\l‘)—\- /\/0\7_(,03};7-% Hlo(Q)—t-(_o.l(fj]-t- 'LNI«C_\ (‘oﬁ))

1 - Convert 25.0 g of sodium carbonate to moles. Use FORMULA WEIGHT.
2 - Convert moles sodium carbonate to moles HCI. Use CHEMICAL EQUATION
3 - Convert moles HCI to volume. Use MOLARITY (6.00 M)

(D) 6.06mH(| S5 60omgl HOI=[

5UT12426172 mol HE| 5O = 0,078( L o C.00MHC|
(.00 mo\ HC]

We already have the volume of HCI in liters, but the problem asks us for an answer in
mL (probably because that's what we'd measure out in lab!). So do a quick unit

conversion. -3
m \__’_ O \,

m L. '
O.0 M- _loee LVPQMMHU
786L)( ID_"S(_, X (6 n
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”‘\’L,chglvvu)\ 3,069 9]mu\
HlaH, € LNO — H(gHaV *6HL 0« N

propylene acrylonitrile
Calculate how many grams of acrylonitrile could be obtained from 651 g of propylene, assuming
there is excess NO present,

1 - Convert 651 g propylene to moles. Use FORMULA WEIGHT.
2 - Convert moles propylene to moles acrylonitrile. Use CHEMICAL EQUATION.
3 - Convert moles acrylonitrile to mass acrylonitrile. Use FORMULA WEIGHT.

D L\/‘)“O%\ﬂCSHG = mol| C3H6 @qmo\sze:HmomgHgl\/

®S3406[’|5(3H3[\): YYH)\ (3H3N
mol (gHe . Himol C4H3 M gg,&)ﬁfj(g“gk/ -7
HZAO%\ﬂchG L') rno\ C?)HG VY10| (3H5/v B
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|S\.°/O’3/mu\
10FeS0y, + L KMoy, + 1150, —> SFe, (S0, )+ L mMadSoy = NS0,
+ %HL’D

How many mL of 0.250M potassium permangenate are needed to react with 3.36 g of iron(ll) sulfate?

1 - Convert 3.36 g iron(ll) sulfate to moles. Use FORMULA WEIGHT.
2 - Convert moles iron(ll) sulfate fo moles potassium permangenate. Use CHEMICAL EQUATION.
3 - Convert moles potassium permangenate to volume. Use MOLARITY (0.250 M)

D |s) .q()ﬂ FCSOH:VM\ FeSaL/ (2) 10 msl Fegoqzlnwl M/an)b/
@0‘250/\'\ Kmhoq;/ O,lsoynol KmndH:L"

| Fe$0 “Limol 0
336 oS0, lgow&F go*mm \KFMVSM1 e =0.0n7L
ey el Testy O 0ml Kby 8 o 2o m

@ @ @ NMnob

Since the final answer should be in mL (what the problem asks for), do a quick “
unit conversion.. m L = 0\3 L

0.0l Ly ME <19, 7ml of 0.250 M K/muO,
63




